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LO: To calculate inverse operations
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	Bronze Challenge – Fluency


	[image: ] 











	[image: ]


	[image: ]









	Silver Challenge – Reasoning
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	[image: ]Tommy checks his calculation using the same addition.
Is this a good idea? What calculation should he do?
Correct Tommy’s answer.












	Gold Challenge – Problem Solving
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[image: ]In total they have 8,524 marbles between them. 
How many does Eva have?









Challenge
Complete LBQ tasks
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Mo, Whitney, Teddy and Eva collect
marbles.

| have 1,648 marbles.
Mo

Whitney

| have double the
amount of marbles Mo
has.

| have half the amount
of marbles Mo has.

Teddy

In total they have 8524 marbles between
them.
How many does Eva have?
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| have double the
amount of marbles Mo
has.

Whitney
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| have half the amount
of marbles Mo has.

[©

Teddy
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Match the inverse calculations.

2,482 + 6,428 = 8,912 5271 + 4,212 = 9,483
5,984 - 3,172 = 2,812 8,912 - 6,428 = 2,482
9,483 - 5,271 = 4,212 8,912 - 5,271 = 3,641
8,912 = 3,641 + 5,271 5,984 = 3,172 + 2,812
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Complete the calculations.

Use inverse operations to check your answers.
a) 763 + 4,072

b) 8711 -1,053

c) 2,351 + 14,706
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I'm thinking of a number.
After | add 5,241 and subtract 352, my number is 9,485
What was my original number?
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Eva and Dexter are playing a computer game.
Eva's high score is 8524

Dexter’s high score is greater than Eva's.

The total of both of their scores is 19,384
What is Dexter’s high score?
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Alex thinks of a number.

What number did Alex start with?

When I add
4,550 to my number
I get 7,460
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Tommy works out 12,350 + 7,903 incorrectly.
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